AAZ. Lecture 36.

04. 18. 2022.

So far, we've proved the following towards the A.W. Theorem, for any algebra A:
(1)
$$A = (End_A(A))^{op}$$

(2)
 $u_1 \quad u_2 \quad u_3$
 $v_1 \quad u_2 \quad u_3$
 $u_1 \quad u_3 \quad u_3$
 $u_1 \quad u_2 \quad u_3$
 $u_1 \quad u_3 \quad u_3$
 $u_1 \quad u_2 \quad u_3$
 $u_1 \quad u_3 \quad u_3 \quad u_3$
 $u_1 \quad u_3 \quad$

Today: Putting together (1), (3) and Schur's Lemma to finish the proof.

Setup: A: s.s. k-algebra. decomposing into (as a regular module)

$$A = \begin{pmatrix} S_{1}^{(1)} \oplus S_{2}^{(1)} \oplus \cdots \oplus S_{n_{1}}^{(1)} \end{pmatrix} \oplus \begin{pmatrix} S_{1}^{(1)} \oplus S_{2}^{(2)} \oplus \cdots \oplus G_{n_{1}}^{(2)} \end{pmatrix} \oplus \cdots \oplus \begin{pmatrix} S_{1}^{(r)} \oplus \cdots \oplus S_{n_{1}}^{(r)} \end{pmatrix}$$

$$each \cong S_{1}^{(1)} \qquad each \cong S^{0} \qquad each \cong S^{(r)}$$
where $S_{1}^{(1)}$, $S_{1}^{(2)}$, \cdots , $S_{1}^{(r)}$ is a full lost of pairwise non-i (o. simples in A.
Def: Let $B_{1}^{(i)} := \bigoplus_{j=1}^{n_{1}} S_{j}^{(i)} \longrightarrow$ the ith black.
Let $D_{1}^{(i)} := \bigoplus_{j=1}^{n_{1}} S_{j}^{(i)} \longrightarrow$ the ith black.
Also recard from Schurs Lemma: Hom_A($S_{j}^{(i)}$, $S_{k}^{(i)}$) = 0 whenever $i \neq V$ since $S_{1}^{(i)} \neq S_{1}^{(i)}$
where the 'Pij''s cone from in A.

Example: Say
$$A = \begin{pmatrix} s_{1}^{(1)} & s_{2}^{(1)} \\ z \end{pmatrix} & \mathfrak{S} \begin{pmatrix} s_{2}^{(2)} \\ z \end{pmatrix} & \mathfrak{S} \begin{pmatrix} s_{1}^{(2)} \\ z \end{pmatrix} & \mathfrak{S} \begin{pmatrix} s_{1}^{(2)} \\ z \end{pmatrix} & \mathfrak{S} \begin{pmatrix} s_{1}^{(2)} \\ z \end{pmatrix} & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ z \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ z \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \begin{pmatrix} s_{1}^{(1)} \\ s \end{pmatrix} & \mathfrak{S} \end{pmatrix} \\ & \mathfrak{S} \end{pmatrix}$$

$$\overrightarrow{EX.} \rightarrow \stackrel{\sim}{=} M_{n_1}(\widetilde{D}_1) \times M_{n_2}(\widetilde{D}_2) \times M_{n_3}(\widetilde{D}_3)$$

More generally, a similar argument shows that $\operatorname{Fnd}_{A}(A) \cong \prod_{i=1}^{r} M_{n:}(\widetilde{D}_{i})$ Note: If le is algo closed and A is f.d. (which implies that each S") is f.d.), then by Schur's Lemma $\widetilde{D}_i = k \quad \forall i$. H.W. L The endgene: $A := A \subseteq (End_{A}(A))^{op}$ $\left(\operatorname{T}_{i}^{i} A_{i} \right)^{\circ p} \stackrel{\sim}{=} \operatorname{T}_{i}^{i} \left(A_{i}^{\circ p} \right)$ $\cong \left(\overline{(M_n; (\widetilde{D};))} \right)^{\circ P}$ $= \prod_{i} \left(M_{n:} \left(\widetilde{D}_{i} \right)^{\circ p} \right)$ 2. The theorem, with more details:

Thm: Suppose
$$A$$
 to a site kedge with decomp $A = \bigoplus_{i=1}^{n} \sum_{j=1}^{n} \sum_{j=1}^{n} \sum_{j=1}^{n} \sum_{j=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{i=1}^{n} \sum_{j=1}^{n} \sum_{i=1}^{n} \sum_{$